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Immediately after opening the seals
check to ensure that there is no
defect in the Question Booklet and
all the pages are intact. If any defect
is detected immediately inform the
Room Invigilator. If necessary the
Question Booklet will be replaced.
The candidate has to answer 150
questions in all. Each question
carries 1 mark. :
Answer the questions in the OMR
answer sheet only.

Read the instructions given in OMR
answer sheet carefully before
answering.

There are four alternative choices
against each question. Select the
correct and most appropriate
choice and mark it with blue/black
ballpoint pen in the right bubble of
the OMR answer sheet in such a
way that ink does not spread out of

the bubble.
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In Constructivism —

(A) children participate in  the
process of learning passively

(B) education is teacher-centered

(C) education is child-centred

(D) education is behaviouristic

For building good character in

students —

.{A) there should be éhapters in the
textbook regarding character
development

(B) lecture should be given for
character development

(C) the classroom activities  should

be such that it may promote
character building
(D) the autobiography of eminent
persons should be taught ;
In which of the following conditions

the social and emotional development

of the child will occur in good

manner ?

(A) When the child is considered
important and his feelings are
respected

(B) When the child is told to learn
more and more

(C) When the child gets good marks
in the class

(D) When the child is taught

according to his intellectual level

[ P.T.O.
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Which of the following situations will

help in the development of creativity ?

(A) When there will be Ilimited
opportunities for learning

(B) When children are asked to learn
answers

(C) When the solution of a problem
is told to the student

(D) 'When children

opportunities to learn on their

are given

own

Activity based teaching emphasizes —

(A) active participation by all the
students

(B) completion of activity in specified
time :

(C) play

(D) disciplined class

“If you want to teach the children,

learn from the children” indicates —
(A) Teécher centered education -
(B) Child centered education

(C) Evaluation centered education
(D) Examination centered education

At the upper primary stage there is a

need of —
(A) educational and career guidance:

(B) educational, career and personal

guidance
(C) - only career guidance

(D) only educational guidance
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The best Way to inculcate moral

values in children is by —

(A) giving moral lectures
morning assembly

(B) putting across a situation and
asking students to take action

(C) demonstration of moral valyes
by teachers and elders :

(D) teaching students to differentiate
between moral and immoral

in the

There are five students having

physical disability in a class. During

the games period they should be —

(A) seated in a corner so that these
children can e'njoy watching the
game ‘

(B) encouraged “to take part in the
games appropriate for them with
other children

(C) allowed to take part orﬂy in
indoor games

(D) forced to play with all. the
students of the class

According to Jean Piaget, adaptation

takes place through —

(A) - Assimilation

(B) Accommodation

(C) Experiences

(D) Assimilation and accommodation

does not include in

counselling ?

(A) Listening with attention to the

child
- (B) Talking with child in friendly
manner
(C) Understanding point of view of
" “child

(D) Keeping child in discipline

[P.T.O.
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At the state level the curriculum of
Class I to VIII is developed by —

(A) S.CERT.
(B) N.C.T.E.
(C) N.CERT.
(D) SIEMAT

During the mid-day meal, high caste

students deny to have meal in a line

with lower caste students. What will

you do ? <

(A) You will agree to make separate
sitting arrangement for them

(B) You will seek direction from
higher authorities

(C) You will convince students to sit
together and have meal

(D) You will stop cooking mid-day
meal in school

Monika is good achiever in science,

but poor in mathematics. The most

probable reason is —

(A) girls are generally poor in
- mathematics

(B) parents of Monika  are
uneducated

(C) mathematics teaching is not

effective
(D) mathematics is a hard subject

A teacher is appointed in a remote
village, where villagers are
uneducated, school building and
drinking water facility are also not
available. The biggest hindrance to
work in the village is —

(A) lack of school building
(B) uneducated parents

(C) lack of motivation to solve

problems
(D) lack of drinking water facility



[w]

16.

7.

18.

19.

FIRCET F AR T SR o wed &

AR ol o enfer st =

T ST & —

(4) Afdes gleer

(B) H&IIT I Afetepay

(C) Afas Thon

(D) Afcer ggmar

T Uel =A19% Hedioh & atta areion

AH Hedih IR e &

(A) HHET UIRIFEH HT JogisT

(B) W fawat 1 Feaie

(C) TIFHF &, wWoeHs & )
TN 85 T Jedioh

(D) EAHTHS & T Tegih

%mﬁmﬂﬁawﬁﬁ@%ﬂém
wsuahﬁfﬁawﬁ%mw%lag
IRTERT & —

(A) WWW

(B) THRIHF 3FeRor st

(C) ¥ SHeror 1.

(D) &5 | #IE 78T

fPuRt & woof & frfofam o @ whar

HYT Faitus 3faa & 2

() o =1 7 forarett & wefbrg 2
i o § s gig

(C) Wwﬁmwaﬁ%
UgTE % T SRaTe @

16.

17;

18.

19;

APPU-2

According to Kohlberg, the thinking
process involved in judgment about
questions of right and wrong is
called —

(A) moral dilemma
(B) morality co-operation

(C) moral reasoning

(D) moral realism

In a Continuous and Comprehensive
Evaluation, the phrase ‘Comprehensive
Evaluation' indicates —

(A) evaluation of whole syllabus
(B) evaluation of all subjects

(C) evaluation of cognitive domain,
affective domain and
psychomotor domain

(D) evaluation of cognitive domain

A concept learnt by a student in
mathematics class is used by her in
Geography class. This is an example
of —

(A) positive transfer
(B) negative transfer
(C) zero transfer
(D) none of these

Which of the following stétements is
most appropriate in relation to
adolescents ?

(A) Thinking starts reflecting in
concrete actions
(B) Abrupt increase - in  the

Intelligence Quotient

(C) Increase in the incidence of
emotional upheavals

(D) Carefree hature towards studies

[P.T.O.
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plays a significant role in the

development of personality.

(A) A Dblend of heredity and
environment

(B) Number of examinations

(C) Heredity

(D). Environment

The major responsibility of a teacher

is to —

(A) maintaih strict discipline

(B) provide learning opportunities as

per the different learning styles

of students

(C) prepare lesson plans and teach
accordingly :

(D) organize as many activities as
possible :

“Thought

language, but also precedes it.” was

not only determines

an idea put forward by —
(A) Vygotsky

(B) Pavlov"

(©)
(D)

Jean Piaget
Kohlberg

For maintainihg an effective di‘scipline
in the class the teacher should —

(A) allow students to do whatevef
they like

(B)

©)

deal with the students strictly
give the students some problem
to solve

(D) both (B) and (C)
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If you get an opportunity to teach a
visually challenged student along
with normal students, what type of
treatment would you like to give
him/her in the class ? :

(A) Not giving extra attention

" because majority may suffer

(B) Take care of him sympathetically
in the classroom :

(C) You will think that blindness is
his destiny and hence you can
do nothing :

(D) Arrange a seat in the front row
and try to teach at a pace
convenient to him

Which of the following best describes

the extent of effect of heredity upon

development ?

(A) Heredity determines how far an
individual will develop

(B) Heredity determines how far an
individual can develop

(C) Both (A) and (B)

(D) Neither (A) nor (B)

For maximum reinforcement effect, a

given reward should —

iA) be applied immediately upon the
response

(B) be applied immediately
- preceding the response

. (C) be applied simultaneously with

the response
(D) follow the response only after a
. substantial delay
The new
professes —

progressive - pedagogy
(A) -assessment in learning

(B) - assessment of learning

(C) assessment for learning

(D) assessment along learning

[ P.T.O.
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Errors made by students in classes
above 5 must be considered as

indicators of —

(A) their lack of learning skills

(B) their learning steps

(C) their learning disabilities

(D) their ignorance towards learning

Science and Art exhibitions, music
and dance shows and bringing out

school magazines, are meant to —

train

(A). students for various
professions

(B) establish a name for the school

(C) satisfy the parents

(D) provide a creative channel for

learners

Inclusive education refers to a school

education system that —

(A) emphasizes the need to promote
the education of the girl child

only

includes all with

disability

(B) children

includes children regardless of

physical, intellectual, social,
linguistic or other - differently

abled conditions

encourages education of children
with through

exclusive schools

special - needs
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First Language — ENGLISH

In multi-dimensional approach to the teaching of English, ‘aural’ is one of the
languages which refers to —

(A) speech (B) sight

{C} ‘hearing | ' (D) motion

Which among the following is not a method of teaching pronunciation ?

(A) Imitation (B) Substitution

(C) Phonetic (D) Subsidiary _
‘Diphthongs’ need continuous’ practice while teaching pronunciation. Diphthong isa—
(A) long vowel ; (B) short vowel :

(C) consonant ; (D) two vowels jointly used

A class VII student writes the letter b as d, has a bad handwriting, skips letters in long

words and cannot read properly. Which of the following language disorders may he be

suffering from ? :

(A) Aphasia : (B) Semantic pragmatic disorder

(C) Dyslexia (D) Speech impairment

Which of the following principles is not considered to be true for English language

curriculum ? . -

(A) Language skills are independent

(B) Language learning is learning to commumcate

(C) Language learning is most effectlve when it takes place through meaningful and
interactive tasks

(D) Language varies

Directions ( 36-37 ) : Choose the correct word to complete the sentences given

below — ' '

I have to write the question Paper ........l...c.cooeee ink-pen.
(A) with (B) in

(C) by (D) from
My father prefers coffee ............... o ten:

(A) than : (B) to

(C) from (D) for

Directions ( 38-39 ) : Mark the correct word of spellmg to complete the sentences
given below —

Indian Railways started ........................ train to Allahabad during Kumbha.~
(A)  spatial : (B) expecial

(C) special (D) spacial

Teachers are doOING ..........coeeeeee work. :

(A) inovative (B) innovative

(C) inovetive (D) innoevative

[ P.T.O.
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Directions ( 40-41 ) : Choose opposite of the italicized words —
Mr. Jain is an affluent trader. :
(A) wealthy - (B) healthy

(C) rich ; (D) poor y
Children are quite optimistic about their learning achievements.
(A) realistic (B) pessimistic
(C) pragmatic (D) negative

Directions ( 42-43 ) : Questions have been divided into four parts as A, B, C and D.
One of the four parts has an error. Find the error part and mark on the answer sheet —

The house I have just buy is very big.
A SEeR D
Students are judged on the basis from their personality also.
A RSB A ok C / D

' Directions ( 44-47 ) : Four alternatives A, B, C and D are given under each sentence.

Select the most suitable alternative to fill in the blanks in the sentence to make it
meaningful —

Linguired . 0 5 0 e L that matter.

(A) with; for (B) of; into

(C) to; against (D) in; from

Any one can appeal .............. a higher court and apply ................. a fresh trial.

(4) at; in " (B) on; out

(€) -to; for (D) with; to

The children are so ................ that their parents are thinking of sending them to
2 By o school. .

(A)  unruly; boarding (B) small ; high

(C) misruled ; lodging | ] (D) naughty ; neighbouring

Though (She 1880 0o il e nies by nature, but she does not like that any stranger
should? .2 20z 50 in her privacy.

(A) salubrious ; interfere - (B) garrulous ; meddle

(C) gregarious; intrude - (D) lugubrious ; lonely

Dire_ctions ( 48-49 ) : Choose ‘one word substitution’ for the italicized part of the
sentence given below — ' ;
He is the person who hates all mankind.

(A) Misogynist ‘ (B) Monogamist
(C) Philanthrope (D) Misanthrope
A child born after the death of father.

(A) Pessimist ' (B) Posthumous
(C) Pacifist (D) Orphan
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55
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Directions ( 50-51 ) : Choose the suitable option that describes the meaning of the
phrase or words shown italicized —

He frequently goes back on his words.

(A) repeats the words (B) confuses others _
(C) stumbles (D) breaks his promises
I cannot put up with that nasty fellow.

(A) appreciate 3 (B) endure

(C)  control (D) forgive

Directions ( 52-53 ) : Choose the most suitable sentence which conveys the exact
meaning in accordance with the correct grammatical rules —

(A)  She-is not as wise as her brother

(B) She is not equally wise as her brother

(C) She is not as wise like her brother

(D)  She is not so wise as her brother

(A) My sister is the poet and the philosopher

(B) My sister is a poet ahd the philosopher

(C) My sister is a poet and philosopher

(D) My sister is a poet and a philosopher _

Directions .( 54-55 ) : Choose the correct word to complete the sentences —

Shakespeé.re and Milton were great poets but I prefer the former to the ........ :

(A) last ' (B) latter

(C) later " (D) latest

Hvowsaves.. money everyday, you can get a good sum in the year.
(A)  alittle ‘ (B) little

(C) the little (D) fewer

Directions ( 56-60 ) : Read the passage given below and answer the questions by
choosing the correct alternative that follow —

The saving of certain wild animals from extinetion has for many years been a problem
for zoologists and other specialists ; but more recently the problem has become so

acute, and has received so much publicity, that most people are now concerned about

it. This may at first seem strange because one of the most gratifying developments of
the last few years has been the passing of strict laws to protect wild animals and the
consequent decline in the hunting of big-game for sport. Why is it, then that some rare
wild animals are still threatened with extinction and even some of the less rare ones are
rapidly declining in number ?

One reason is the ‘march of civilization’. When an area is wholly cleared of vegetation to
make room for new towns, factory sites or hydroelectric plants, the natural home of

' [ P.T.O.
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56.

S¥.

58.

59.

60.

several species is destroyed. The displaced animals must either migrate to another area

or perish. Even the clearing of land for a road or an airfield may involve ‘pushing back’

the jungle, and the smaller the area in which wild animals compete for a living, the

smaller the number that can hope to survive. ‘

Civilization brings, too, swift and easy transport and so assists those who are

determined to break the various protective laws. Thieves can elude the game wardens,

shoot an elephaht for its tusks, a rhinoceros for its horn, or a deer for its meat, and be

miles away from the site of the crime before the dead or dying victim is even discovered.

It is sad to reflect that civilization which can bring so many benefits to people who have

previously' known only hunger and misery, brings also facilities for the heartless

criminals who, for material gain, will slaughter some harmless animals and threaten

the disappearance of its kind from the earth forever.

What problem is being faced by zoologists and other speciéh'sts ?

(A) The migration of animals to other areas

(B) The saving of certain wild animals from extinction

(C) The declining number of less rare animals

(D) The clearing of jungles for building of new towns

Why is there a decline in the hunting of big-game for sport ?

(A)  Strict laws have been passed to protect wild animals

(B) Very few animals are left in the wild

(C) Animals have been displaced due to building of roads

(D) People are not allowed to keep arms

What is the meaning of the word ‘gratifying’ as used in the passage ?

(A) Unpleasant (B) Threatening

(C) Harmful (D) Satisfying

How does modern transport threaten the survival of wild animals ?

(A) Roads are built through jungles

(B) Animal parts like tusks, horns etc. can be easily carried away

(C) Fast and easy transport assists those who break the various protective laws

(D) Animals are killed by fast transport

How is the natural home of several species of animals destroyed ?

(A):  Due to ‘pushing back’ of jungle for a road or airfield

(B) Due to clearing of a whole area of vegeta{tion for making new towns, factory sites,
roads etc.

(C) Due to fighting between animals

(D) Due to natural calamities
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‘Second Language — ENGLISH

Directions ( 61-62 ) : Select the most suitable alternative to fill in the blanks —

Those Who Ve n .. oiw . houses, should not throw .................oe...... at others.
(A) big; abuse : : 4 (B) owe ; challenges

(C) stone ; bricks (D) | glass ; stones

SEhe 7l ST thinkers are not interested in propagating .................. ideas among
masses.

(A) practical ; ideal ' (B) original ; hackneyed

() religious ; spiritual (D) secular ; political

Directions ( 63-64 ). : Choose the most suitable sentence which conveys the exact
meaning in accordance with the correct grammatical rules —

(A) It is strange that you don’t know swimming.

(B) Itis strange that you don’t know how to swim !

(C) Itis strange that you don’t know how to swimming !

(D) It is strange that you don’t know to swim.

(A)  Everyone knows that he is nothing else but a cheat.

(B) Everyone knows that he is nothing else than a cheat.

(C) Everyone knows that he is nothing else except a cheat.

(D) Everyone knows that he is nothing but a cheat.

Directions ( 65-66 ) : Fill in the blanks with suitable form of verb —

No one is allowed to ..................... the trees in the forest.

(A) fall T (B) fell

(C) fallen (D) felled
Remember i v your temper even when provoked.

(A) not to loose ‘ (B) not to loss
(C) not to lose (D) not to lost

Directions ( 67-68 ) : Choose among the options marked as A, B, C which is an
improvement upon the italicized part. If none of three optlons improves the sentence,
then the answer is D.

There is nothing quite miserable than illiteracy in youth.

(A) as miserable ; (B) very miserable

(C) more miserable (D) no improvement

The sky was overcasted with clouds.

(A) had overcast ' ' (B) was overcast

(C) was overcasting . (D) no improvement

; » [ P.T.O.
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Find out the ‘adjective’ among the following options —

(A) Gorgeous (B) Inculcate
(C] 'Pedigree | (D) Undertake
Choose the word similar in meénmg to the word ‘Generous’—
(A)  dismal , : (B) immense
(C)  timid (D) benevolent

Directions ( 71-74 ) : In the following passage there are blanks indicated as 71, 72, 73
and 74. You are required to fill the numbered blanks from the suitable options given at

the end of passage —

“Our scientific spirit must be shocked not oniy by Hhe 7 1 ..... of fabulous ..... 7 2 .....
and ... 7 3 ..... poverty, but also by those of intense holiness and ..... 7 4 .....
superstition.”

(A) phenomenon (B) contrasts

(€} -, existence (D) comparison

(A)  property (B) prosperity

(C) resources (D) wealth

(A) common : (B) rampant

(C) grovelling (D) growing

(A) _ religious (B) blind

(C) popular (D) prevailing

One who specialises in the study of birds ié called —

(A)  Ornithologist (B) Psychologist

(C) Toxicologist : (D) Ethnologist

Directions ( 76-77 ) : Choose the most suitable alternative to make the sentence

logical in sense —

‘Theteaeher o .50 us to attend his class.

(A) advice 5 (B) advise
(C) adviced . (D) advised
Indiais oo oo in the North by the mountains.

(A) bind ; (B) bound
(C) | bounded (D) binding

002
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Directions ( 78-79 ) : Find out the incorrect part of the following sentences which has
an error. If there is no €rror, mark D as your answer —

" Neither Rahul / nor Karim / have done his homework. / No error
—t1Iiher kahul 10r Karim YO error_

AR B € D

Sixty five years have passed since India became free. No error

A / B i C A
Directions (80-81) : Choose the correctly spelt word —
(A)  Aesthetic (B) Asthetic
(C) Aesthatic (D)  Asethetic
(A)  Received - (B) Recieved
(C)  Resieved (D) Recived

Directions ( 82-83 ) : Choose the word from among the options, opposite in meaning of

the word in capital letters —

FACT

(A) false (B) real

(C) fiction | (D)  imaginary
PRUDENT

(A)  silly (B) unwise
(C) idiot (D) poor

(A) The king, said to his courtiers “Is there no one who can venture an answer ?”
(B) The king said to his courtiers, “Is there no one who can venture an answer ?”
(©) The'king said to his courtiers, “Is there no one who can venture an answer.”

(D) The king said to his courtiers, “Is there no one who can venture an answer !”

| (A)  She said who is there ? (B)  She said who is there
(C) She said, “Who is there ?” (D) She saJd that, “Who is there.”
Directions ( 86-90 ) : Read the following passage and answer the questions that
follow — :

of himself and his country. But really there is no person who has not got some good

and some bad qualities. In the same way, there is no country which is partly good and

| : [ P.T.O.
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partly bad. We must take the good wherever we find it and try to remove the bad

wherever it may be. '

We are, of course, most concerned with our own country, India. Unhappily, it is in a

bad way today. Most of our people are poor and unhappy. They have no joy of their

lives. We have to find out how we can make them happier. We have to see what is good

in our ways and customs and try to keep it, and whatever is bad we have to throw

~away. If we find anything good in other countries, we should certainly take it.

What do many Indians imagine ?

(A) that India is great

(B) that in many ways India is the greatest country in the world

(C) that India is greater than England '

(D) that India is the greatest country in Soﬁth Asia

In what respect is India in a bad way today ?

(A)  that some of the people in India are rich and happy

(B) that all of the people in India are happy and hopeful

(C) that most of the people in India are poor and unhappy

(D) that most of the people are rich but unhappy

What should we throw away ?

(A) that whatever is good in our old traditions

(B) that whatever existed in our old beliefs

(C) that whatever we see good in other countries

(D) that whatever is bad in our customs and tradition

What should be our attitude towards other countries ?

(A) We should neglect what Frenchman are proud of .
(B) If there is anything good in other countries, we should certainly take it
(C) We should refuse anything German people like to do

(D) We should not readily refuse whatever good is there in other countries
What do people think in every country ? - %

(A). that they are not as good and as clever as others

(B) that they are the best and the cleverest people in the world

(C) that people of other countries are not very clever and good

(D) that most of the men of their country are rich and clever
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- Mathematics and Science

K 64'2 + 45 = 64° Ot yvEES  fae
(?) % ST W A —
(A) 3 B) 5
(D) 9
Al a2 =13 423438
A= 50753% L 47
c2=13+23+33+43+53
AWa+b+c HIAFE —
(A) 33 (B) 31
(€) 27 (D) 25
T HAUGYS o UhlR ST & oo
ufe ST oo Uk FHART SR T E1 5

f9aR & diEl Sie Hion &7 9 B —
(A) 1502 (B) 180°
(C) 210° (D) 540°

U YAHS. Pl HI Aqesdl J7H 7 |
foriioTe foham ST &1 9w 1 7 I w
TTaehaT 41 BN 2

@) ® 2

(€) (D) 1

A 9 % U e T R 2

(A) 2 3R 5T 7 2

(B) Wk vl § g fowr AR uwsw vy
BIaT 2|

(C) 7,2 3R SHATE ?

(D) 23R 5% I 62|

T g i foAd 5 9« 2 9 x 599

T O e ol # WER Sieet U
T ST ST HhT € 2
(A) 32
(C) 25

(B} 16
(D) 20

9t.

92

93.

94.

95.

96.

002 |

If 64'%+4'° =64, then it will come
in place of question mark (?) —
(A) 3 B) 5
< 7 D) 9
Fa =1 253

be—1 0% 33 43

et =1"12°48%44% i 58
then the value of a + b + cis —
(A) 33 (B) 31
(€) 27 (B) .25
The alternate vertices of a regular
pentagon are joined to form a star
having five vertices. The sum of
all five vertical angles of this star will
be —
(A) 150°
(€. 210° (D) 540°
A positive integer is selected at
random and is divided by 7. What is

the probability that the remainder is
not1?

(B) 180°

B 2

(©)

1
7
2 D) 1

Which of the following is not a
‘propositien’ ? ;

(A) Sumof2and5is 7.

(B) An angle consists of two rays
and one vertex. '

(C) Is7thesumof2and5?

(D) Sum of 2 and 5 is 6.

A cuboid is of dimensions
S cm x 2 cm x 5 cm. How many
such cuboids may be joined to form a
cube ?

A) 32
(C) 25

16
20

(B)
(D)

[ P.T.O.
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97. = H ¥ ®H T gl Hw@ d 2
A) 28 (B) 36
(C) 10 (D) % & Tt

98. TH W H 1 T5H ¥ed §, v @ 7o
RS ¢ q°T I I & WE IR I
Sedll & & 7§ F SH-ar s @
B HETE 2 '

a) 1:1 B) 1:2
€) &8 (D) 1:4

99. &M X % o AWMl A, BAAT C T HHIT:
25, 40 3R 35 fommei €1 9w A, Bawr
C X v fod T e 3% o
70%, 65% AR 50% 1 T F&W X F
3T Wi & —

(A) 60% (B) 61%
(C) 6166% (D) 65%

100. o Teaist # foenféat srT =8t mit Sfea,
T A % SRON, HTURITHS TEY
TEAdl, TIEY $ UHEl 9Hd guied
Bl § ?

(A) RS gogiET
(B) TEARHS Hodidw—
©) ﬂﬁwn@m
(D) WRIRTCH oaish

101. T FHHT BT § &0 &7 oif, 9§ o
STl & OHGE & SMH % SR £ AR
T BT 1 STER 12 | @ At By
TR B —

(A) 12 9 (B) 102 &=
(C) 9 JHt (D) 59Ht

- 102. 3 9 SHATT Yoiie! 7 a7 Sat, at 399
Y S YOI 1 HIF S % Ul A e
oS =10 S+5
@ == e
(©) S;S (D) S+510 |

103. T @ wfadiier § 5 faerer sfawm s

® €1 & el # vew g faere &
99 W9 G dfeE ¥ $e feay Ay
@ SR 2
(A) 10
(C) 16

12
20

(B)
(D)

36

97.

98.

99.

100.

101.

102.

103.

(W]

Which of the following is a perfect
number ?

(A) 28 (B) 36

{€). 10 (D) All of these
A box contains a dozen bulbs in
which few are defective and remaining
are good. Which of the following
cannot be a ratio of defective bulbs to
good bulbs ?

oy Sl g | B). 1:2

(Cr2d =3 (D) 14
There are three sections A, B and Cin
class X with 25, 40 and 35 students
respectively. The average marks
obtained by sections A, B and C are
70%, 65% and 50% respectively. The
average marks of entire class X is —
(A) 60% B) 61%

(C) 6166% (D) 65%
Which evaluation involves gathering
information about the students
errors, reasons for those errors, depth
of conceptual understanding, effective
means of intervention ?

(A) Diagnostic evaluation
(B) Formative evaluation

(C) Prognostic evaluation
(D) Summative evaluation

In a right triangle, the square of
hypotenuse is equal to twice the
product of remaining two sides. If the
base of this triangle is 12 cm,
then the perpendicular of triangle
will be —

(A) 12 cm (B) 10v2 cm
(C) 9cm (D) Scm

If the sum of five successive integers
are S, then the value of largest integer
in terms of S will be —

S—-10 S+5
(A) 5 (B) S
- S+5 S+10

(€ 5 (D) 5

In a sports competition, 5 players are
participating. It is compulsory for
each player to play match with every
other player. How many matches will
be played ?
(A) 10

(C) 16

(B)
(D)

12
20



104. Wex fa5 § ABCD @47 PORS 3T ¥HI<R

TS €1 6 T A B —
D S C R
0
120°
A B P Q
(A) 50° (B) 45°
(C) 40° (D) 30°

105. Fr & § -1 fawey 359 WHHE R

R Thel U eTefuT & hivTel W It
<! W ST FS9 el hacl & 2

() el saifieg @50 1 W AR
TEIAT % 91 W T B

(B) Teremdt wei-wel A= e ¢

(€) Tt g w1 vE ek FafEa
TR % ¥ & HT & |

(D) foemelt fofea uRero FRT*TF{T Bﬁ'{

cerar 9 & &

106. fHdt FEwr W 4% =1fves =9 1 R @

Ui B4 Ot 2 99 % GERY &S adl
ThgE S H R 10 To g1 FeRT H
= B —

(A) 4,500%°  (B) 5,550 %0

(C) 5,750%e (D) 6,250 %o

107.X, YRS aISsan s ek v, Zz ®

A7 T oS St €1 Z 3R 72 e W
! T U I X o 99 § 7 W 2

(A) 24 e
(B) 18 =
(C) 16 e
(D) 12 e

37
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104.

105.

APPU-2

In the given figure, both ABCD and
PQRS are the parallelograms. The
value of 6 will be —

D S € R
(S)
120°
A B P Q

(A)
(€)

50°
40°

(B)
(D)

45°
30°

Which of the following options does
not demonstrate the achievement
of skill objectives of teaching
school mathematics in upper primary
stages 2

(A) The pupil handles geometrical .
instruments with ease and
proficiency.

(B): The pupil measures accurately.

(C) The pupil solves routine type of
problems using a formula.

(D) The pupil does written

calculation with ease and speed.

106. The difference between the simple

interest and compound interest on a
certain sum of money at 4% per
annum for two years is Rs. 10. The
sum will be —

(A) Rs. 4,500
(C) Rs. 5,750

(B)
(D)

Rs. 5,550
Rs. 6,250

107. X runs twice as fast as Y and Y runs

thrice as fast as Z The distance
covered by Z in 72 minutes, will be
covered by X in —

(A) 24 minutes
(B) 18 minutes
(C) 16 minutes
(D)

12 minutes

[ P.T.O.
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108.

109.

110.

111.

yeH UR-EIe foRel Wi # e foEme gr
forfer forwat & ot fend TR iRt @i geIten
¢l Ak foemet & $o1 wraE 648 B Al
A, fow= @ W fowm % o
ik, o<t & M & e w9
fore i € 2

(A)
(€)

66
48

(B)
. (D) .
n SEOT H AEF m T AR TS YT B

54
30

m? —m+1 Sie R 9@ @ 9 T w5
HH B —

(A)itim? =]

B) m?+2m+1
n

(D) 1+m?2

Th I I ulear, et Bear 17-5 94
g, ¥ e # 1200 TFR o T ¥ S
T TA & —

(A) 10 HiZX/THUg
(B) 11/ Ysvg
(C) 12 HieX/AFvg
(D) 125 HieX/IFUE

T gl FEst w1 9 s u ot gen
BT €1’ QUi EEATell 1 ¥E 0T e
T

(A) 3N T WEE o7
(B) dNT T sHATalET o7
(C) 3T T Tt T

(D) FNTIRI ST T 707

38

108.

109.

. (D)

(W]

The given Pie-chart shows the marks
scored by a student in different
subjects in an examination. If the
total marks obtained by the student
be 648, then marks scored in English,
Science and Social Science exceed

the marks scored in Hindi and
Mathematics by —

(A)

(C) 48 (D) 30

The mean of n observations is m. If
mA Sl s added to each

observation, what will be the value of
new mean ?

A) m?2-1

B) m?+2m+1
2
m= +1

T
1+m2

110. The wheel of an engine, 17-5 cm in

111.

radius, makes 1200 revolutions in
two minutes. Speed of the engine is —

(A) 10 metre/second
(B) 11 metre/second
(C) 12 metre/second
(D) 12'5 metre/second

‘The sum of two whole numbers ié
also a whole number.' This property
of whole numbers is known as —

(A) associative property of addition

(B) commutative property of
addition

(C) closure property of addition

(D) property of  componendo-
dividendo



is —
A) 4.3 S
B 6:5 9
€)-" 109 12
D) 12: 10 15

114. The Imean of the median ang mode gof
the observations 6.6, 9,14 8, 9, 9, 8

1S —
(A 85 B) 8625
€) 875 (D) 89

115. "In a triangle, if two sides are €qual,
then the angles OPposite to equal
sides haye €qual measures. " The

Inverse of this theorem will be —

AV g triangle, jf the angles
Opposite sides have €qual

" (B) Inaga triangle  if two sides are not
€qual, then the angles Opposite
to these two sides do not haye
€qual measures.

116. A shopkeeper sells 25 books at the
fate of Rs. 45 Per book after giving
10% discount and gain 509, pProfit. If
the discount g not given, then profit
pPercent will pe ___

(A) 60% B) 66%
() 66%% (D) 6652%
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117.@-Waﬁata1é,zﬁ31§aarn’zm‘%w
T 90 T AT ST ol 445 F €
TS T Y S B —

(A)
®)
©

(D)

320 HH2
365 TH2
3805 T2
400 HH2

(18 9 G 3 : 4 5 % e § § o
ST I TS 2400 § | 37 Ve

&1 HETH WA &€ —
(A) 24 (B) 36
(C) 40 (D) 60
119, T freror iR fawe foemr § SRR %
g= # T HYH € —
(A) T s femr SRS T,

(B)

(€)

120.@#@Tﬁ899ﬁﬂmﬁwm'

ofeafe e, afwEd, wEl 9@
TRET BT &, S fow ol e
s el & TR EIel §

fosta foreor § Seet i iR

40

(W]

117. The sum of the length, breadth and
depth of a cuboid is 20 cm and its

diagonal is 4J5 cm. The surface area

(A)
(B)
(©€)

(D)

- of cuboid will be —

320 cm?
365 cm?
38045 cm?

400 cm?

118. Three numbers are in the ratio of

I

4 : 5 and their L.C.M. is 2400.

Their H.C.F.is —

(A)
€

24
40

(B)
(D)

-36
60

119.In reference to difference between
teaching of Mathematics and teaching
of Science, the wrong statement is —

Sag Bt © wEts o o feeger 7§

1 GAH G BT €l

wﬁ]ﬁ@mﬂaﬁfﬁﬂ%’a%aﬂ%

?aamqamfas’a%|
e % feeor # oRomE W
1 Fuar H A g, SEih

63 U B ¥ Ak & gem w29 ¥

w7 T ST A EE B —
@) 3 B) 5
@ D) 9

(A)

(B)

©

Teaching of mathematics starts
with undefined terms, defined
terms, axioms, theorems while
teaching of science starts witkh
well defined terms. ! :

Teaching of science involves only
deductive process while teachin;
of mathematics involves ¢
combination of both inductive
and deductive processes.

Mathematics is a  man-mad
universe while Science is
natural one.

In teaching of science, th
results are validated throug
experiments, in  teaching ¢
mathematics  experimentatio
are the means to verify some ¢
the probable results.

120. A number when divided by 899 give

a remainder 63. If the same numb
is divided by 29, the remainder w:
be —

(A)
(©)

3 : (B) 5
7 (D) 9
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123.

124.

125.

(A) I ! ORY H R
(B) TR @1 & SR

(C) T s R

(D) =

we fas fers fomm des i uiear i

Fafae ¢ HeheT & —

(A) 3T T THET TR 7@ I

(B) femntaal ¥ sga 3= VAR W@ FX

(C) Tornfoml | arcferns UM W@ X

(D) ot & frdl woR @ 3med
q @ H

Th HHF B TA § TH YR A Hew
AT &, S G AF UgTH | 4 HHUS I
€| HHF I ST B —

(A) 196 Hr
(B) 39-2H
(C) 156-8 H
(D) 78-4

& ¥ MHPO, @ ?

(A) MCl

(B) MCl,
(C) MClg
(D) Mj,Clg

IFRTST Ueh THS0T & — .

(A) TH W % HNO, T dF i
g% HCl :
q WFT WE HNO, T & WA
= H, S0,

dH AT " HNO; T Th T
g5 HCl

<} WW W H,SO, U Th WA
| HCl '

(B)

(©)

(D)

41

39 M UK % FORIES H OGF F; e

121

122

APPU-2

A particle is revolving on a circular .
path with uniform speed. Acceleration

of particle is — . '
(A) along the circumference of circle

(B) along the tangent

(C) along the radius

(D) zero

A science teacher can enhance

science learning process by —

(A) setting uniform standards of
expectations
(B) setting extremely high
: - expectations from students
(C) setting realistic expectations
from students
(D) not having any expectations

123.

124.

125.

002

from students
A stone dropped from the roof of a
building and takes 4 seconds to reach
the ground. The height of the building
will be —

(A) 196 m
(B) 392m
(C). 1568 m
(D) 784 m

What will be the formula of that M

metal chloride whose formula is

MI-.IPO4 ?

(A) MC1

(B) MCl,

(C) MCl,

Aqua regia is a mixture of —

(A) one part conc. HNO; and three
parts conc. HCl ‘

(B) two parts conc. HNO3; and two
parts conc. H,SO 4

(C) three parts conc. HNO 5 and one
part conc. HC1

(D) two parts conc. H,SO, and one

part conc. HCI

[ P.T.O.
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| 126. T N AW AR 440 1w T

127

128.

129.

130.

2:2 U9 T NTP WX 37T &N —
(A) 224

(B) 2247

(C) 112

D) 1-12 &

oIS AR SelorT faeiaT & T s @

WISl 3TSeIY T T B & —

(A) e

(B) pret

(C) T

(D) @rer :

1 7 9§ f5g a0 & gR Senet § uwhg

BN E T A 9§ 2

(A) BT

(B) urfEw

(C) T

(D) Fm

HhTRT HYeToT < fspar o <ot o e ¥

(A) Co, @ T

(B) VTSl ST T SRS S

(C) ToRA * wHwm R fF o
T

(D) HT 37&Hi I YHRT W
(STSrhTRTeR) foram ek T

ST O o ¥ e

(A) T B & :

(B) SisT H & a9 &

(C) ST v # = B

(D) Hoed Ha® -l U S

126.

122

128.

129.

130.

[w]

Gram molecular weight of a gas is
44-0. At NTP the volume of 22 gm of
this gas will be —

(A) 224L
(B) 224L
(C) 11-2L
(D) 1-12L

The colour of the precipitate obtained
on heating glucose with Fehling
solution is — ’

(A) Yellow

(B) Black .

(C) White

(D) Red

Stomata will open, - if there is
accumulation of .............. element in

the guard cells.
(A) magnesium
(B) potassium
(C) iron

(D) zinc

What function
photosynthesis ?

(A) Combines with CO,

water does in

(B) Absorbs light energy

(C) Supplies electrons in the light
dependent reactions :

(D) Transports H' jons in the light
independent (dark) reaction

Gymnosperm is a plant which —

(A) Dbear flowers

(B) produces seeds in cones

(C) does not produce seeds enclosed
in ovary

(D) exhibits no vascular tissues
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131. Pair of physical quantities and their
units are given below. Select the

wrong pair —

(A) Inductance — Henry
(B) Viscosity — Radian
(C) Magnetic field — Tesla
(D) Pressure — Pascal

132. Which of the following statements is

wrong about yeast ?

(A) Yeast have protein

(B) Yeast have Vitamin B complex
group
(C) Yeast helps in fermentation of

sugar
(D) Yeastis an algae

Crops and its hybrid varieties ére
Match the

133
given below. correct

pairs —
Crop Variety
(a) Wheat

(b)

(i) Pusa Komal
Brassica (i) Himgiri

(c) Cowpea (iii) Pusa Sadabahar

(d) Chilli (iv) Pusa Swarnim
a b () d
W @ @ @
B) ) ) )
© @@ @ @ 0
(D). i)y e s, @)
[ P.T.O.
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134. ffetfaa # & 7o s gfe —
(A) =E — W I 91T Gt
(B) W  — @A I T gy
(C) =R — @ I AT Ty
HeAT
(D) She — @M A 9 g

135.

136.

U fowm e & o o e o
-8 RIEoT ivrer it Teeeoi 2
(A) SRTEAT FIvTe

(B) U HIvTA

(C) SRTEVT HIvreA

(D) SREAT HI¥TeT

TR H 1 F9 e F wro o
BT e 2

(A) TR

(B) WS

(C) Wt

‘(D) HUraRgT

137

138.

. T K] FT 9R F6ll ©H R 9.8 = &

SRl g = 9-8 Hiex ufy Yeve2 2139 o

. T STAM BT — -

A) =

(B) 9-8 fw

(C) 10-0 fur

(D) 1-0 fepmm

ferdit s 7 wR wag arfue @
(A) g H

(B) pecEr #

(C) U= & &g o

(D) 45° 37atieT |

44
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134.

Choose the incorrect pair from the
following —

(A) Sapodilla —  edible part
pericarp

(B) Rice —  edible part
endosperm

(C) Indian plum — edible part

: mesocarp

(D) Banana — edible part
thalamus

Which teaching skill is most

135.

136.

137.

138.

Important to a science teacher for
teaching science ?

(A) Introductory skill
(B) Questioning skill
(C) Iustration skill

(D) Explanatory skill

Which pigment is the cause of red
colour of tomato ?

(A) Lycopin
(B) ‘Cyconin
(C) Solonin
(D) Capsisin

The weight of an object in a place is
9:8 newton, where the value of

g — 98 m/secz. The mass of that
object will be — :

(A) zero

(B) 9-8 kg

(C) 100 kg

(D) 10 kg

Weight of a body is maximum at —
(A) poles '

(B) equator

(C) centre of earth

(D) at latitqde 45°
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139 Fer & g 927 ol g1 § — 139. Which of the following is the largest
ear-ossicle ?

(A) FIhdH
(A) Incus
(B) &
= (B) Stapes
(C) ¥fufea
(C) Stapedial plate
(D) HieEs

(D) Malleus

140. Functional group of wax is —

(A) i

(A) ketone
(B) TTHE '

(B) alcohol
(C) TX

(C):ester
(D) el

(D) carboxylic

141. 'FRO SO d9F €, SEEH o S o
2 'l ' . . t 2
gy BT 7| og 1s a: collol system whic

involves dispersion of —

(A) T ETEEH i
' (A) gas in liquid

(B) 9 G H L
: (B) liquid in gas
(€) R (C) gasin gas

(D) & T 3 H (D) gas in solid

142, ‘Fereds’ 1 Sfgogotiotodilo AT & 142. IUPAC name of 'Glycerine' is —

(A) TUA-1, 2, 3-ZR3TA (A) Propane-1, 2, 3-triol

Bl 12,3 ZIR3ATA BIREI (B) 1,2, 3 Triol propanol

€ 1,2,328 A : (C) 1,2, 3-triol propanone
(D) ZRSTHe Toshieiet (D) Tripropyl alcohol

002 | [PT.O.
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143. §HIOT A + 2B = C & foiw a2y Reien

T HTh & —

(4) % (B) [—’[‘%

© #C;]z- (D) Q[LL”]B]
144, U AHINHUE SRR Bl &

(A) 10° Jwvg

B 10-10 Jeue

(©) 1072 dwvg

(Dj 10 % g

145.%%&#@11@6@@?%@?%
EiGE

(4) I W AR F AW T o &
HROT

(B) IR W FoHES T 99 I9 T &

HROT

(€ T W FAREE w1 o9 W T
FROT

(D) =Rl W = F &9 59 99 &
FHROT

146.f§§wﬁaé=r(ms?qﬁaé=r)%w
I TN T Th P IR0 &

(A) i

B) 3 fomgh

(C) EeFmr BhRT0] iy
(D) e

46
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143. Expression of equilibrium constant

for the equation A + 2B = Cis —

[A][B]? [A]lB]
3 ey Laars

[C] ~ [C]
= [Al[B]? i 2[A][B]

144. A nanosecond is equal to —

(A) 10° second

(B) 107 1%second

(€) 1072 second

(D) 100 second

145. Why after some time silver pots

become black ?

(A) Due to formation of layer of
nitrate over silver
(B) Due to formation of layer of
sulphide over silver
. (C) Due to formation of layer of
chloride over silver
(D) Due to formation of layer of

oxide over silver

146. The best example of a disease which

is caused by Dot mutation is —

(A) Thalaséemia »

(B) Down's syndrome
(C) Sickle cell anaemia
(D) Night blindness
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147 AT i@ — 147. Match the following —
atsear T TeTel Process Materials
i obtained

a) TRESHERU i) g
b) TS i) U TehiRier

c) IAHEH iii) GTEROT 9%

d AT i) AEEH

a b © d
@ @ () () (i)
® () G G ()
© ) (@ @)
D) ) G @) (iv)

148. U fornel S %e § Goq 09 31 &, 39 L8

vHueZ § fo v Sl 9 e @ 3
&1 T T s B & T oY 39
= d 8 g duRt @@ s % few
gE A 2

(A)  TEIgEn, 6 o g

(B) HEINYEl, Fadd oig

(C)  ETRIHSIME, oot o

(D)  EREWRHIET, 3T G

149. T WH] F T I oAl w AR 149.

FAH G 9 TEél 8l Hendl 98 & —
(A) SR = FEm

(B) 3AwaTs fagrd

(C) TIeed w1 Fram

(D) el T 3geH fagma

ﬁwﬁ%ﬁvﬁmﬁ%— 150.
/:Taﬁmwﬁ

(B) &Ra @osw |
(C) Tz
(D) qawﬁrmﬁr

a) Hydrogenation i) Vanaspati
b) Evaporation ii) Ethyl alcohol
c) Distillation iii) Common salt

d) Polymerisation iv) Nylon

a b c d
(A) (i) (i) () - (iv)
(B) (i) (iv) (i) (1)
<€ @ (1) (ii) (iv)
(D) (i) (1) (1) (iv)

A student sitting at the back of the
classroom cannot read clearly the
letters written on the black board. As
a science teacher which suggestion

will you give about his disease and

lens to him —

(A) Myopia, Convex lens

(B) Myopia, Concave lens

(©) Hypermetropia, Concave lens

(D)  Hypermetropia, Convex lens
‘No two electrons in an atom can
have same set of four quantum
numbers" is — 4

(A) Bohr's law

(B) Aufbau principle

(C) Dalton's law

(D) Pauli's exclusion principle

In respiration, glycolysis takes place
in—

(A) Cytoplasm

(B) Chloroplst

(C) Ribosome

(D) Mitochondria

[ P.T.O.



APPU-2

2 G

92,

93.

94.

| 48 2
ATUTTeh 371899 |

=

SOCIAL STUDIES

Id & Trafafes o= $ s saE
( SFATOFT 2011 % AR ) & 30E %9
ﬁWWlﬂéW%W%@ﬁ%
feT 71T e =1 59 Hifv |

. HERTE

IW I

i¥ey sme

fasr

FE

% ;
@a 2
B) 1
€. 2,
D) 1

B

Bl e
W B W

’ ] y

H SRI9H TS SeR & —
A) Ydadt 9EE H5
(B) STadl YT i
(C) Tl svaTE
(D) JIERGT A9a® FT
9 99 gl ¥, 99 argAvew A gnifers
AT Bt § —
(A) 100 wfae@m B) I yfawE
(C) 50favm (D) 75 gfaer
el - I T et - 10 &1 g it qe

ffafed Fz @ =& sw g

et - 1 el - 10
(T wfmEas ) (T )
a) & 1. HERT
b) SR 2. wAleHm
o) FEIFHEH 3. ITHWRW
d 4. dfterrg
he :

a b c d
@ 2 1 3 4
B 1 3 4 2
) 2 1 4 3
D) 1 4 2 3

91

92,

93.

94.

Arrange the following states of India in
descending order of their population
( According to Census 2011 ). Use the
codes given below to select the correct
answer.

2 Maharashtra

2. Uttar Pradesh

3. West Bengal

4. Bihar
Codes :
Q-2 F 43
B):-1..2,3. 4
€52 3 7 10g
D):4,2.4:3 _
Brahmaputra river in the Himalayas
presents an example of —
(A) Antecedent drainage
(B) - Consequent drainage
(C) Subsequent drainage
(D) Superimposed drainage
When it rains then relative humidity in
the atmosphere is —
(A) 100 percent (B) zero percent
(C) 50 percent (D) 75 percent
Match List - I with List - II and select
the correct answer from the codes
given below : :

List - I List - II

( Atomic Power Plant ) ( State )
a) Kaiga 1." Maharashtra
b) Jaitapur 2. Karnataka
¢) Kudankulam 3. Uttar Pradesh
d) Narora 4. Tamil Nadu
Codes :

a b ® d
@ 2 ] 3 4
B 1 3 4 2
) 2 1 4 3
D) 1 4 2 3
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95.

96.

97

98.

39

frefefan vea aforel #5134 <o &

%4 ° afed FIST 9o F2 @ g8 3w
M
1. SR&RH
2. dWE@
3. SRR
4. HOgSTA
L :
@12 34
B 2013
©. 312 2%
D):-2,8, 1.4

frefafen g # & = 8 gifem &
g2 .
fogt

T
@) e IW H2W
(B) TR HERT
C) W= EEIE]
(D) «e 3R diedt AT
‘T’ @ 3§ —
A) E A
(B) & & oA
(©) i m TR

(D) ferarfers =1 veifear

F W 1 A qeEEa IR F Seed
arelt fshan =1 et S § —

@A) fedas foan

(B) wufas fewan

(©) onf¥e fpan

(D) et fofan :

A § gord 1 frafafaa gt § @ $H-
€ T YR 92N YU § 2

(A) TTHOT ¥ UTHy

(B)  THE | il

(C) ur ¥ TRE

(D) TR | FTRF
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95.

98.

99.
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APPU-2

Arrange the following mountain ranges
from North to South order and select
the correct answer from the codes :

11 Karakoram

2 Ladakh
3 Zaskar
4. Pirpanjal
Codes : :
Aa). 1.2.8,4
B)- 2::3:.3-4
€53 2,2, 4
@) 2,3, 14

Which one of the following pairs is not
correctly matched ?

Seil State

Alluvial -- Uttar Pradesh
(B) Regur Maharashtra
(C) Laterite Punjab
(D) Red and Yellow Chhattisgarh

'Kayal' stands for —

(A) Terai Plains

(B) Lagoons of Kerala
(C) Ganga Delta

(D) Shivalik Hills

Activity that changes raw material into
products of more value is called —

(A) Secondary activity
(B) Primary activity
(C). Economic activity
(D) Tertiary activity

Which one of the following streams is
dominated by male migrants in India ?

(A) Rural — Rural
(B) Urban — Rural
(C) Rural — Urban
(D) Urban — Urban

[ P.T.O.
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100.

101.

102.

103.

104.

59 A9 e fowa ¥ ara w9 59’ v ®
g, @ = § ¥ -9 foew fafy sei w
SAfehan gua STt 2

() dfEs fafy

(B) =me fafy

(€ wHfew-wRe=sl fafy

D) At fafy
mawﬁ‘qmﬁrmw'ﬁﬁm
¥ o gufae & e 2

(a) fafere S 1 it

(B) =< wgEl # e

(C) HITA FT FSTH

(D) < 9IS A

3eHM g9 iR FreER €Y F PH-1 s
&5 3T L & ?

@A) 11°97«

B) 10"

(C) ¥&R =i @t

(D) 3eHH IR

et - I F gE - 0¥ gafaa Sifae qo
F2 Q TR SW g ¢

et - 1 gt - I
a) STRTL 1. fenwE v&q
b) =T 2. SHRNAER eIl
¢ TEAY 3. FEw Ui
d) SIEH 4. Sact gdd
%<

a b c d
@ 1 2 4 3
B 2 1 4 3
© 4 1 -3 2
(D) 2 4 3 1

(A) FF-TWE TEES 9Hdl
(B) 9 e |

(C) 97 WeEsh |Hit

(D) ¥4 & FE Tl
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100.

101.

102.

103.

104.

(W]

While you are teaching 'Soils of India'
in Geography, which of the following
methods will have maximum effect on
students ?

(A) Project method

(B) Lecture method ,

(C) Group-discussion method

(D) Mapping method

'Micro-teaching cycle' in social studies
does not consist of —

(A) Defining a specific skill

(B) Teaching in big groups

(C) Demonstration of the skill

(D) Micro-lesson plan

Which one of the water bodies
separates the Andaman islands from
the Nicobar islands ?

(A) 11° channel
(B) 10° channel
(C) Gulf of Mannar

(D) Andaman sea

Match List - I with List - IT and select
the correct answer from the codes
given below :

List - I List - II

a) Anaimudi 1. Himalayan mountain
b) Nanda Devi 2. Anaimalai hills
¢) Mount Abu 3. Maikal Range
d) Amarkantak 4. Aravali mountain
Codes :

a b ¢ d
A 1 2 4 3
B) 2 1 4 3
C) 4 1 3 2
D) 2 4 3 1

'Flannel Board' and 'Bulletin Board'
are —

(A) Audio-visual aids

(B) Visual aids

(C) Audio aids

(D) None of these
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105.

106.

107.

108.

el - 1 &1 gt - 09 gafaa sifae qen
M KT T F w1 3T w9 I
I

el - 1 T - I

( 3= ) ( SURAHE )
a I 9= 1. @Iel
b) W & 2. dfEm
¢ FHHl = 3. TR
d) FHHA HeE 4. erE
e :

a b c d

A 4 3 2 1
B 1 2 3 4
184508 | 2 4 3
D) 3 2 4 1

‘-q¥AEEl WIEEI, UHH TS oEwe] HT
giawa & ' 99 39 %99 F1 wE 39
fagr w1 & — '

(A) o o firese

(B) T=go THo Tfayg

C) s=Fo TF

(D) T Hio o
= 9 8 o -9 % 95uus 9 —

A) wRE TEfEe

B T g=

(C) =7 qiad
(D) 3FoRH fodwa '
el - 1 = g - 01 & iy gafea sk
a9 fF T F2 w1 SE = T SW
g

et - 1 g - I

( SuE ) ( q9r)
a) SPOT 1. YRd
b) = GOES 2. WY
c) Meteor-3 3. &9
d) INSAT 4. TYF T AR
e

a b c d

@ 2 4 3 1

B 1 2 3 4
© 4 3 5 1

D) 3 4 2 1
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105. Match List - I with List - II and select

106.

107.

108.

the correct answer by using the codes
given below :

List - I List - II

( Industry ) (Production Centres)
a) Jute Textile 1. Bhadohi
b) Silk Textile 2. Ludhiana
c) Woolen Textile 3. Bengaluru
d) Woolen Carpet 4. Titagarh
Codes :

a b c d
a 4 3 2 1
B) 1 2 3 4
(€) .1 2 4 3
D) 3 2 4 1
'Landscape is the function of

structure, process and stages.' The
scholar who said this statement is —
(A) G. K. Gilbert

(B) W. M. Devis

(C) W. Penck

(D) L. C. King

Who amongst the following was the
founder of Red Cross — .
(A) Florence Nightingale

(B) Henry Dunant

(C) Baden Pawel

(D) Abraham Lincon

Match List - I with List - II and select
the correct answer by using the codes
given below :

List - I List - IT
( Satellite ) ( Country )
a) SPOT 1. India
b) GOES 2. France
c) Meteor-3 3. Russia
d) INSAT 4. USA
Codes : :
a b c d

@ 2 4 3 1
B) 1 2 3 4
€ -4 3 2 1
(D) 3 4 2 1

[P T.O.
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109. ‘3hvl T T fagia’ gt @ —

110. =1 4 9 =1 79 fama guehis &1 79 §
 Wftwfer & & 2

R

112

113.

() e gfs d
(B) <HEEN ygH 9
(C) %W & aaEE 9

(D) kg 99 9gfa / g 9

@)
B

HIERA

HhHd YSiiantol
fem ergam
(D) Siter ST

IRd H e Feeet 98 &1 gor v § 9
fore foar 2

(@) o€ FHaTE
B) INA e
(C) IS FHHEH
(D) 37H ¥ =S &

(©)

.Wi{ﬁi‘cﬁnﬁmmﬁmw

71 JoRa e it gfid feom € —

@A) TSR H

(B) fommry o

(C) wHawl

(D) #roge™ o

Frfafed 4 9 5w g wos & wm
HAd H T FAl A TH faHE W
gt ?
@A) TFR
NS

" (B) SRR

© (D) TSE
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109.

110.

114

12,

113.

B4
'Pull and Push theory’ is related to —
@)

(B)
©)

Population growth
Population migfation
Transportation of goods
(D) Trans-humance practices

Which of the following is not a
measure of human development
index ?

@A)
(B)
©)
(D)

Literacy rate
Gross enrolment
Sex ratio

Life expectancy

Who among the following created the
office of District Collector in India ?

@A)

(B)
©)

Lord Cornwallis
Warren Hastings
Royal Commission
(D) None of these.

The master piece of Chola sculpture,
the famous Nataraja or the dancing
Shiva is at — '

@A)
(B)

Tanjavur

Chidambaram
©
(D)

Kalahasti
Srisailam
During the reign of which one of the

following Mughal emperors did the art
of architeeture reach its zenith ?

(A) Akbar (B)
(8 (D)

Jahangir

Shah Jahan Aurangzeb
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114.

115

116.

15E:

3 geom =fe et 1857 & fasie =i
UL WA &1 ied § Fa- o, 9%
& —

(A) o €lo HETHT -

3Ro Hio AS[HAGR

© Qoaﬁo@f

(D) THo To &

(B)

g seagd 1 e fa vgfet 7 9

FH TF Arhdite 95 Tl 8 ?
(A) AN TSid
B) aRc-faar Tsf
() e Tsf
(D) W& Tgid _
frfafad ) RET Ha FAGER AT
Hifed

1. g% Rue:
TEEA HHIEA
et el Wi

4. TEtAEE
& s = fed T fawed § 9 o —
A
(B)
(&)}
D)1 24,3
amﬁrmaﬁmwﬁwwﬁsmaﬁ

2.
3.

1,2, 3,4
21, oed
2,1,4,3

‘A T ?

13 Al
EATH 1 Al
e fafy
oo st

(B)
©
(D)
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The first person to call 1857 revolt as

an organised war of national
independence was —

(A) V.D. Savarkar

(B) R.C. Mazumdar
A. O. Hume

(D) S.N. Sen

Which of the following teaching
methods of social studies is not a
democratic teaching method ?

&)
(B)
(&)

(D)

Lecture method

Discussion method

Project method

Review method

Arrange the following in ascending

chronological order :
1. ° Nehru Report

2. Simon Commission
3. Gandhi-Irwin Pact
4. Dandi March.

Select the correct answer from the
options given below —

(A
®
©

D 1,2 4,3

Which is the most effective factor
in making classroom teaching
interesting ?

@)
B)
©
(D)

1, 2,3,/ 4

2, 1,3, 4

2,1, 4,3

Lesson plah
Personality of the teacher
Teaching method
Subject matter
ERTO;
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118. wmifsih fomr femor § foers o1 wqw wd 118.

119,

120.

T
(&) F= B T

(B) == I TAfqal s

(© T et S e B =) e 7 W
(D) =<0 % WE W | GeTEd S
‘TF 99 1000 ¥= ¥ SR Sterr @1
391 Y © T e = —

@A) f== =1 ga e & fau s
=ted

(B) e T fyw ¥ ifys die =iy

(C) <ham B fwreyor wft &1 9E w5
=ifed

(D) &N ¥ aga sifus &l sem =fey

fogo d 6l # sifusan wrwf duwm
-

@) FR-faame 95T % gr

® AFR B F gR

(C) 9==-37F WAt & g’

(D) e T 9Sf ¥ gW

121. OIS AYIF & 4195 51 Ta99 fys

JETIH I & —

@) foeor fefiat
(B) =Afwa

©) w==1 uf®

(D) =TI St HHSA
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121.

[ _ﬁf'%

The main function of the teacher in

social science teaching is —

(A) to teach the students

(B) point out the mistakes of the
children

(C) to create such conditions so that
children do not commit mistakes

(D) to help the students in self

learning

'A diagram speaks more than 1000
words.' The statement means that the
teacher should —

@A)
(B)

use diagram in teaching

speak more and more in class
(C) wuse téaching aids in the class
(D) not speak too much in the class

Maximum participation of students in

teaching is possible through —
(&) Discussion method
(B) Lecture method
(C) Audio-visual aids
(D) Textbook method

Most essential quality in social studies
teacher should be —

@A)

B)
(&)

Educational degrees
Personality
Will power

(D) Understanding of children
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@) e
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125.

126.

127.

g gayE fafy & gy § 3 4 9
FH-T FH TA T 7

(A) IT SE-HEA ©

B uE few-Fisd €

() g% T fafy §

(D) 6 ¥ 9l

e Grel | qad s T fewe 2
B) foanef =1
(©) WEE-IgH (D) TeFEE

FAE %1 w1d fHE @ve & F=d A
=2

@A) s gvs

B) fedtas @ve

(C) s TS

(D) =g @vs

Afer =1 ke %1 god SugE Y § —
(A) HEE H 9

(B) EER 1 UREA

(©) =afeTa THESH

(D) IH H FER

sow forg 8 & e W fem § 2

@ &y B) =t

€ HoH (D) S
faftaar = =y feq a9 o1 ?

@) W& Em

(B) TT=Y oW

© EREIEH

(D) fogErT =
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Which of the following statements is
true about problem solving method ?
A
B)
€
(D)

It is child oriented

It is teacher oriented
It is traditional method
All of these

Which is most important in Lesson
plan ?

(A) Teacher
©

B)

Lesson matter (D)

Learner
Homework
Teaching comes under which sector of
occupation ?

(A) Primary Sector

(B)
©

Secondary Sector

Tertiary Sector

(D) Quaternary Sector

The most appropriate meaning of
Learning is —

A)
(B)
(@)
(D)

Acquisition of skills
Modification of behaviour
Personal adjustment
Inculcation of knowledge
Harappa is situated on which river ?
(A) Sindhu (B)
(C) Jhelum (D)
The Bimbisar was related to which
dynasty —

(A) Maurya Dynasty

(B) Brihadrath Dynasty

(@)
(D)

Ravi
Sutluj

Haryank Dynasty
Shishunag Dynasty
L BT.Q.
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g
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A

(B)
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(C) 3US Td AT et

(D) 3iUS W& weTeS fofean
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&) ST guR

(B) & R

(©) foanm gur

(D) (=@ gUR

Temfed ‘Hfifq e’ F sweAm ¥ 2

() I St

(B) swfas TR
(C) To THo G&
(D) 9 9§ =+ 7=
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What was the name of architectural
style of North India in ancient period ?
(A) Mathura style

(B) Gandhar style

(C) Nagar style

(D) Besar style

Which one of following is not a
limitation of 'unit-lesson plan' approach
for the teaching of social studies ?

A

(B)
©

It can be organised easily
It lacks skilled teachers
It inculcates
knowledge

It leads to uneven development of

unsystematic

(D)
students

What was the name of the silver coins
issued by Sher Shah ?

(A) Ashrafi (B)
©) (D)
Between whom the treaty of Salbai
(1782 AD ) was signed ?

A
B)

Tanka

Dama Rupiya

English and Peshwa

English and Hyder Ali

(C) English and Nana Fadnavis

(D) English and Mahadji Sindhia
With which area, the Wood's Dispatch
related ?

A)
B)
©
(D)
The Vice Chairman of
established 'NITI AAYOG' is —
(A) Arun Jaitley

(B) Arvind Panagariya

(C) - A. M. Khusro

(D) None of them

Forest Reforms

Revenue Reforms

Education Reforms

Railway Reforms

newly-
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IRA H T TWHR & T 3 —

W wERE

B) TS ASIESEA

() TS HFEM

(D) @€ Herd
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@) T TEHR
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D) ‘R |
SArFET T T GEAT % ST A W

afe A6 = ofusan @en fEad &

HHal 7 ?

) 10 9w

(B) 20 yfa¥@

15 gfaed

25 iae

42 & dfaum weieA gE o, foen, o=
Sa-sqail S ferl &1 &, e @
forg = § ToraRa foean T 2

(a) e g @ T g

B) T G | HEE P

T g | gueEd! gl

el g & wHedl gl

©
(D)

(©
(D)
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134. The founder of Local Government in

135.

136.

137.

138.

002

India was —

(A) Lord Ripon

(B) Lord Mountbatten
(C) Lord Canning

(D) Lord Macauley

On what basis were the states of the
Indian Union reorganised under the
States Reorganisation Act of 1956 ?

@)
(B)
(@)}
(D)

Whose functions are mentioned in the
12th Schedule of the Constitution ?

@A)
(B)
©
(D)

What can be the maximum number of
ministers including the Prime Minister
in proportion to the total strength of
the Lok Sabha ? '

@)
B)
©
(D)

The 42nd Constitutional Amendment
transferred Forest, Education,
Protection of wild animals and birds,
Weights and Measures to which list ?

A
(B)
©
(D)

Population

Area

Strategic importance
Language

State Government
Government of Union Territory
Panchayats -

Municipalities

10 percent
20 percent
15 percent
25 percent

From Union list to State list
From State list to Union list
From State list to Concurrent list

From Union list to Concurrent list

[P T0.
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139. fFafafeas ¥ @ $i9-9 S9cors gaeen &1

140.

141.

142.

(D)

forgroan ==& & 2

@A) IHfew ISWFH

(B) fawrfaen iR Friwieaw % 6ig wfs
- _

(©) vuFHEs 1 g

(D) WHR I R Friw

= § @ #h ara F el s A el
THEAT & THT off & 2

(A) Tlo THo THTHIH

(B) Sfo SR g&A

CIEISERCEICR e

4t =fto dto Y
Wuaﬁma&"miﬁﬁwm 1876 ¥
Toifa Y T ?

(@) e T

B) fofew ez wHifaeem

© fofew waifawm

(D) ST TEIRTEH

©

‘m's‘ﬁmgﬁanaﬁw'aﬁwm

30 fgg=’R, 1906 !
JeTgal 4 g3 |

..................

(&) T EE

(B) T HeAHE
() ¥ 37l T9m
(D) THo To fmm
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139:

140.

141.

142.

A

(W]
Which of the following is not a

characteristic of Parliamentary

system ?
&)
(B)

Collective responsibility

Close relation between legislature

and executive

(C) Leadership of the Prime Minister

(D) ‘Stable tenure of the Government

Who of the following had also held the
Office of Speaker in the Lok Sabha
before becoming the President of
India ?

@
(B)

Dr. S. Radhakrishnan
Dr. Zakir Husain

(C) Shri Neelam Sanjiva Reddy
(D) ShriV. V. Giri

Which association was formed by
Surendranath Banerjee in 1876 ?
Indian Association

(B) British Indian Association
(C) British Association
(D)

'All
established on December 30,

Bombay Association

was
1906 -

India Muslim League'

under the Presidentship of —
(A) Agha Khan

(B) Nawab Salimullah

©)
(D)

Syed Ali Imam
M. A. Jinnah
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143. f= weiell 1 S9% Ffed 81 % AN

144, GAITEE S99 GRAE TEE HOE b T

145.

146.

%Y ¥ Hafeyd Hig ;
) Rl SEAA HH
1) Sifeararen ar FEER

[1]) =URA GEnE
V) ST9edn sf<ied a9 forar S

@ @y @m av) @O
B @m a @O av)
© o @m @y @O
D) @) (m. @am O

¥ witqu afyawm 9 fafdy

...................

s1eay Taaifed f&a ™ |
(A 1926 B) 1936
(C) 1938 (D) 1939

T g 1 Geen UNuE & 15 HEH B ©
o 5 Tl GeE A 10 SR €eH
® | 10 ST T WURY |1 §R1 fohaAt
s F TR IRE 2 '

@A) Ty B) ;9
© < ad (D) @ Fd
T WL T FER T B oo G

AHaTaER T SeYE SEon & SRR
foram T |

@A) 10 feE=g,
(B) 10 fE=xg,
©) 10 fgE=Ry
D) 10z,

1948
1949
1951

1950

59

143.

144.

145.

146.
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Arrange the events in the ascending
order in which they took place :

I) Kakori conspiracy case

II) Massacre at Jallianwalé
Bagh
Satyagraha at Champaran
Withdrawal of the Non-
Cooperation Movement.
m o 0
m @m @O @)
© M @M @ @)
D av) am @m @O
Subhash Chandra

unanimously elected President of the

I11)
V)

&)
(B)

(I11)

Bose was

Indian National Congress in Haripura

session in —
A 1926 (B) 1936
(C) 1938 Sy -1 939

The Security Council of United Nations
It has

5 permanent members and 10 non-

consists of 15 members.

permanent members. The 10 non-
permanent members are elected by
the General Assembly for a term of —
(A) Five years (B)
(&) (D) Three years
The General Assembly of the United
the
declaration of Human Rights on —
(A) December 10, 1948
(B) December 10, 1949
(C) December 10, 1951
(D) .December 10, 1950

Six years

Two years

Nations adopted universal

L PIEO.
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147.

148.

149.

150.

R4 & WUeufa @ faf=e ww fatas

HAUSH gRI AYAY €9 4 fopan s &

fHeliee Aved % 9= Bd § —

(A) TES &% S Gl F Fe=

(B) HEE % I ¥eAl & faifaa wee= au
o9 faum wwistl & faifag ge=

(C) HEE & THI WAl & Taffaq ge=

(D) ¥¥S % I G & 9™ 991 T
faum gwsti & g2

IRA & ULUfd TN WIS ety 3

F_

(A) Hai= <A % gEF I S

(B) TRHT STeAL W '

(©) Swgufa =

(D) wuHA I

R o YuEs &1 fgie weeft g w

ST € | 39 SoorE WRATT |fauE ¥ g

ATBIHT ?

(@) HT=T 78 (1)

B) FBT 75 (1)

(C) 3T=% 76 (1)

(D) =< 74 (1)

1 fadee, o= fadas € @1 76, s fiofg

HIF HAT § 2

@ fog =@t
(B) T
(C) THT A
(D) 378 9 =< &
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147. The President of India is elected

148.

149.

indirectly by an electoral college. The
members of this electoral college are —

@

the members of both the houses
of Parliament

the elected members of both the
houses of Parliament and the
elected members of the State
Legislative Assemblies

the elected members of both the
houses of Parliament

B)

(&)
(D) the members of both the houses
of Parliament and the members of
the State Legislative Assemblies

The President of India may submit his
resignation letter to the —

(A) Chief Justice of the Supreme
Court

Speaker of the Lok Sabha

Vice President

B)
(®)
(D)
The Prime Minister of India is
appointed by the President. Which

article of the Constitution of India
states that ?

(A) Article 78 (1)
(B) Article 75 (1)
(C) Article 76 (1)
(D) Article 74 (1)

Prime Minister

150. Who decides whether a Bill is a Money

Bill or not ?
@A)
(B)
€
(D)

Finance Minister
President

Speaker of the Lok Sabha
None of these
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R am w5 wabw e @ o
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AT

T T 91 @ 150 9% & WY T
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e a1 gt oremg ¥ & St
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Th HE U UF % MR = W R
ST FHl 2
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10.

11:
12:

13.

14.
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Question Nos. 1 to 30 are related to
Child Development and Pedagogy.

Question Nos. 31 to 60 are related
to First language — Hindi OR
English. Candidate has to select the
questions of only one language as
the First language. Answer the
questions of the language which the
candidate selected as First language
in his/her application form.

Question Nos. 61 to 90 are
related to Second language —
Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of
only one language which the
candidate has selected as Second
language in his/her Application
form. Be careful that the
language selected as First
language cannot be taken as
Second language.

Question Nos. 91 to 150 are related
to Mathematics and Sc1ence OR
Social Studies.

The candidate has to answer the
subject Mathematics and Science
OR Social Studies as selected by
the candidate in the Application
Form.

Rough Work can be done in
specified space of the Question
Booklet.

Do not waste time in solving the
questions. If you cannot answer a
question proceed to the next one.

Do .not fold or damage the OMR
answer sheet any way.

After examination submit your OMR
answer sheet to the invigilator.
Candidates are allowed to take
away the carbon copy of OMR
answer sheet and Questions
Booklet.



